
IMLPR Homework #09 Solutions 

 

1. Chain Clustering 

(a) x1, x2, x3, x4, x5 belong to z1; x6, x7, x8 belong to z2 

(b) x1, x2, x3, x4 belong to z1; x5, x6, x7, x8 belong to z2 

(c) xi ∈ zi 
(d) x9 ∈ z1 or z2  
(e) x9, x8, x5, x2 belong to z1; x7, x6 belong to z2; x4, x3, x1 belong to z3 

 

2. Criterion Functions 

 

For Group #1 

(a) S୵ = ቂ
2 0
0 2

ቃ , S୆ = ቂ
8 4
4 2

ቃ 

(b) Je=4 

 

For Group #2 

(a) S୵ =
ଵ

ଵହ
ቂ
52 4
4 28

ቃ , S୆ =
ଵ

ଵହ
ቂ
98 56
56 32

ቃ 

(b) Je=16/3 

 

(c) Group #1 

 

 


